[image: ]
LLB
LME 3584



[bookmark: _GoBack]MBE
Actividad #4


Tabla 1.
	

Cardiopatia Isquemica

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	

Expuestos
	
60
 (a)

	
98
(b)

	
158

	

No expuestos
	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000




Odds Ratio
RA= Ie-Io= 60-98= 38













	

Miocardiopatia 

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	

Expuestos
	
30
 (a)

	
42
(b)

	
72

	

No expuestos

	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000




	

Valvulopatia

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	

Expuestos
	
39
 (a)

	
56
(b)

	
95

	

No expuestos
	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000




Miocardiopatia: 30-42= 12
Valvulopatia: 39-56= 17





	

HTA

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	
Expuestos
	
150
 (a)

	
252
(b)

	
402

	

No expuestos
	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000




	

HVI

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	

Expuestos
	
78
 (a)

	
77
(b)

	
155

	

No expuestos
	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000






HTA: 150-252= 102
HIV: 78-77= 1



	

Diabetes

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	

	
48
 (a)

	
56
(b)

	
104

	

	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000



	

Alcoholismo

	
Fibrilacion Auricular


	
	
Casos
	
Controles
	

TOTALES

	

	
60
 (a)

	
84
(b)

	
144

	

	
¿
 (c)
	
¿
(d)

	


	
TOTAL

	
300
	
700
	
1000



Diabetes: 48-56= 8
Alcoholismo: 60-84= 24
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